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   µo = 4πx10-7 Tm/A,  εo = 8.85x10-12 C2/(Nm2) 
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Thin lens equation  
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 Refractive power of a lens ( in diopter) = 1/f  (in meter) 

 

 Angular size = θ (in radians) ≈ ho/do 
 
Young’s double slit experiment 
 
Bright fringes -------  path difference = d·sinθ = mλ  m=0, 1, 2, 3, .. 
 
Dark fringes --------  path difference = d·sinθ = (m +½)·λ,   m = 0, 1, 2, 3, … 
 
Thin film interference 
 
Bright fringes ------  path difference = 2t + ½λfilm = mλfilm    
 
Dark fringes   ------  path difference = 2t +½λfilm = (m + ½)λfilm,    


